P 3§ e (@ — T )

1. Which among the following (State — Coal @

region) is correctly matched? wel '\Eﬁﬁ‘ﬂ &7 B) qf¥ed 4T —
(R) Madhya Pradesh — (B) West Bengal - (A) TezRer — g )
Ramgarh Betul W :
T
rg : — v foren

2. Which among the following (River - \E/ﬁ‘l:l'ﬁ‘iﬂgﬁ ¥ 9 prar (7€ )

Associated District) is not correctly matched? W 7@' e? :
(A) Kakni - Jaisalmer  (B) Banganga - Jaipur (A) @Il — WeerR (B) FVTHIT — W4T
(C) Vatrak - Banswara (D) pai - Ajmer ' (C) ar® — qRfareT (D) BE — AT ;

3. Which of the following will get irrigation 3. fr=ifra 4 9 f5=¥ wwaw 989 aREr T |
benefits from the Parvan Mega project? . ferand e frerf?

(A) 637 villages of Jhalawar, Baran and Kota (A) ZTaTaTe, aRT ofik wrer frdl & 637 Tl
districts B

(8) 535 Wilages' of Bundi, Kot dnd Batai (B) g1, Per 3k ari frall @ 535 WA B

(C) 637 villages of Jhalawar, Bundi and Kota © ;"E" TS, 441 A wier fore @ 637 il
districts : _ .

(D) 535 villages of Pratapgarh, Jhalawar and | () werweTg, samdrg ik drer forell ® 535
Kota districts Tiat @ - ;

4. When was President Rule imposed in yem il GIE B Ll e O
Rajasthan due to unclear majority in the AR A Uy TS $d- omar v
Assembly Flections? - 277 .

(A) 1977 (B 1967 (A) 1977 (B) 1967
(€) 1992 (D) 1980 . (C) 1992 (D) 1980
5 As per Census - 2011, the district having least 5= SFTOTI=2011 3 TR, weie ¥ fora foret
rural sex ratio in Rajasthan was - d H oy IERIGRIGE WA T or, | -
(A) Tonk ' (B) Dholpur (A) e (B) ey -
(C) Jaisalmer (D) Barmer ©) Srgeie (D) areiR
6. Which leader of the Marwar Lok Parishad died /‘Cﬁa I B F-Ei?-ntﬁ Tedld @ TR
in June 19, 1942 due to hunger strike against ARG AP qﬁﬂa G ﬁﬂ:{ T B 5 19
injustice in Jail? 1942 5 '
(A) Bhanwar Lal (B) Anand Raj Surana A ,
Shorma (4) mr\' e *ami ... (B) 3 w1 Rion
(C) Bal Mukund Bissa (P) Ranchod Das (©) ara Tz v (0) voBTeETs TEH)
Gattani = ' ;
" Planning Commission has been replaced by 7. AT ameT Y R T R W A, s
which of the given Institution? &1 wfreerfia fésar man 22
(A) National Development Council ) 3 fsre aReg E
(B) NITI Aayog (B) Siifer iy .
() Finance Commission of India (C) wresy &1 fa aman
D) Investment Commission of India ' (D) g &1 g
| ‘--'_"'"--._ . T
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aboutl @ compromise between
ague and Congress, in 19167

jpal Krishna (B) Bal Gangadhar
Lokhale Tilak
+) Surendranath (D) Annie Besant
Banerjee

When was the Revenue Board established in
Rajasthan?

(A) 1949 (B) 1955
(C) 1947 (D) 1951
10. From which tree ‘Katha' is extracted in
‘Rajasthan?
(A) Palas (B) Khair
(€) Khejri (D) Dhok
11. As per Census 2011, which state of India has
the highest sex ratio?
(A) Chhattisgarh (B) Tamil Nadu
(C) Andhra Pradesh (D) Kerala
12. Who among the following was honoured with
the WNari Shakti Puraskar on International
Women's Day 20227 :
(A) Batool Begam (B) Vasundhara Raje
(C) Mamta Chouhan (D) Usha Sharma
13. Labour Bureau, Shimla releases Industrial
Labour Consumer Price Indax’ (Base year-
2016) for which centers in Rajasthan from
September-20207
(A) Jaipur, Jodhpur,  (B) Alwar, Bhilwara,
Bikaner : Jaipur
(C) Alwar, Ajmer, (D) Ajmer, Jaipur,
Jaipur Bhilwara
14. Ratanada airport provides services to -
(A) Jodhpur (B) Bikaner
(C) Kota (D) Udaipur
15. In which of the following tribes, the marriages
named Tanna and Mor Bandhiya are
prevalent?
(A) Meena (B} sansi
{C) Bhil (D) Garasia
16. At which level of Pap}::havati Raj a “Sathin” is
selected as an 'Honorary Woman Warker' for
women development pmgramme.r.?
(A) Panthayat — Samiti (B) Gram — Panchayat
(€) Block lavel ' (D) Zila — Parishad
1ic Page 3o 24
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10.

11.

12,

13.

14.

15.

16.

1916 ¥, R RLRE SO e —
Ry aearan o

(A) wiyarer FOT A (B) qre TR Rrer
(©) g T (D) ot Y

5
F’f}' 1949 (B) 1955
(C) 1947 (0) 1951
aoerd A fFE 78 W wen Feen o
€7

(B) ¥
A) gerd
:C:ﬁ'ﬂ@ (D) =
wﬁlzuua%aﬂ;ﬂ,#ﬂﬁiﬁﬁmm
(A) BTG (B) qfarg
(C) ariyr W (D) &wet

siqeieta witen REd — 2022 W, T AfdE
Wﬁ%ﬁﬁ[ﬁ?ﬁ’ﬂﬁﬁﬁﬁ?ﬂwﬁﬁﬁﬁm :
g BY

(A} Tfe T (B) g <

(C) weit BT (D) a1 979

s =, e, fagav—2020 @ ToTRE @
fm @i © o sirentre s@sl &g ST
Hel AS® (SR qH-2016) S HXar 27

(A) ST, SR, (B) aream, Hiwarst,
Arnrie SR

(C) areTay, AR, (D) 3o, WA,
I Hiare!

TAFIST EATEIAFT AT WA IqerEr

(A) SigR & (B) v

(C) e H1 (D) SEaqR %Y

o vd "N sfien faae, e 8 9 few

Wonta H wafera €7 ’
(B) it e

(D) T &

(A) wyor

(€) ey .

Tart o & W wR W uE e @
T e R wdaEt ® fg e
HEST amedeal @ wu A frar omar 22 '
(A) Yara—afafy (B) T —varrg

(©) =it e (D) fren—ufiug

—

ATTNE. |




i7.

18.

19,

21.

' 24.

. What is not correct with

- (C) Hadoti Plateau
- An objective of the National Food Security

Which of the following Indus Valley Civilization
site is included in UNESCO World Heritage list

in July 20227 '
(A) Kalibanga (B) Dholavira

(C) Mohenjo-Dare (D) Balathal

Malaj Khand is associated with which mineral
production?

(A) fron Ore (B) Copper

(C) piamond (D) Lignite

Which type of forests are found in western
slopes of the Western Ghat?

(A) Monsoon (B) Tropical Evergreen
(C) Savanna (D) Alpine

respect to
GSTIN?

(A) It is a 16 digit and letter code.

(B) Its First 2 digits are the state code.

(C) It is 15 digit and letter code.

(D) It contains the PAN Card number of the .

individual or business. _
On which river is the Salal Project located?
(A) Vyas (B) Chenab
(C) Jhelum (D) Ravi

» The major producing region of soybean in

Rajasthan is -
(A) Semi-Arid (B) Eastern Plains

(D) Mahi Basin

Mission is to increase the i

( production of
certain crops, which are -
(A) rice, wheat and pulses

(B) rice, wheat, pulses, oil
y } se
vegetables s, o

(C) rice, wheat, pulses and oil seeds
(D) rice and wheat

Which among the following is relateq to Lord

Curzon?
ez

(A) Partition of Bengal in 1905

(B) Government of India Act, 1909
(C) Universities Act, 1920

(P) Indian Council Act, 1892
Where is Lok Kala Mandir located?
(A) Ajmer (B) Jodhpyr
(C) Kota (D) Udaipyr

& 131C
.

—

18.

19-

21.

23.

24.

. $ﬁi‘¥r@aﬂﬂw"
,g'ﬂ:}ﬁ}-_} : 2022
& AT S e o
bl (8) eirardia
[W’ﬂm (D) wrarersy
AN | Gy

Fi b whe sames Qi
(A) &8 3w (B) i

(©) et tn}?ﬁm

(A) AR (B) Swrgieafig
YSTaER
(C) warr (D) are1E

g,w.a.qﬁﬁwa%mﬁﬁwwﬁwﬁ

(A) U8 UF 16 3 13 R 77 TS B

(B) g UUM 2 3% 9w &1 w2 B £

(C) & U% 15 &% @ aerl & a1 2

(D) s aft o1 oawm @ U9 W T
aIfed B & |

Holler afkaran fe 75t W Rem &7

(A) =rH . (B) ferma

(C) staH (D) 37

YN § GuEe Swee WE 89
a_ .

(A) 3 - (8) gl A
'{c}g@;}rﬁﬁqan S (D) W A

et & gared A gfg 8, Wl § -

(A) 1905 @1 el B R
(B) eg HWHR sfafrge, 1909

(C) farvafaarer AfIFT. 1920

(0) ey o AR, 1892

25.

(A) 315 * (B) W
(©) Frer (0) wrage
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26.

27.

28,

29.

30.

31.

32

Who among the following was not elected in
Rajya Sabha elections 2022 in Rajasthan?
(A) Sh. Mukul (B) sh. Ghanshyam
Balkrishna Wasnik Tiwari
(C) sh. pramod kumar (D) Sh, Subhash
Chandra

In which year ‘Chief Minister Raj Neer Scheme’ -

was declared in Rajasthan?

(A) 2019 (B) 2015

(C) 2020 (D) 2021

Which are the highest population districts of
Rajasthan, according to Census - 2011
(Descending order)?

(A) Alwar-Jaipur-Nagaur-Jodhpur

(B) Jaipur-Jodhpur-Nagaur-Alwar

(C) Jodhpur-Jaipur-Alwar-Nagaur

(D) Jaipur-Jodhpur-Alwar-Nagaur

Which of the following cities will host the 2025
Waorld Athletics Championships?

(A) Tokyo (B) Budapest

(C) shanghai (D) paris

High Court of Rajasthan was inaugurated by

Rajpramukh Sawai Mansinghon- !

(A) January 28™, 1952 (B) August 29", 1949

(C) March 27, 1951 (D) January 28, 1950 )

In Rajasthan, where is the first Tribal Child
Hockey Academy established?

(A) udaipur (B) Bhilwara

(C) Kota (D) Dungarpur

Who among the following leader was in the
IndeqendEnce Movement in Bharatpur state?
(A) Tikaram Paliwal ~ (B) Kishan Lal Joshi

(C) Mangal Singh (D) Shobha Ram
Sharma

Which song of goddess was sung by the

‘Kanfate Jogi’ with Damru and Sarangi?
(A) Nagnechi Mata
(C) Sakrai Mata *

(B) Sheetala Mata
(D) Jeén Mata

131c X

26.

27.

3.

Rrfafiae 8 W ®HF, TowurE W W 9419

2022 # Faife el gan ar?

(A) 5t B TP () st wewam
e |

(C) s witg AR (D) =t AT T

worm ¥ e W AR Ao e

¥y uifed @t TE? ,

(A) 2019 (B) 2015

(C) 2020 (D) 2021

2011 ® TAF § IER, WO @

wits wwem g R & -

(erRIEl ) |

(A) FFR—TAR—ATR—FEGR

(B) TAqR—AI R~ R—3fTeR &

(C) TR~ R

(D) TRIgR—IEgR— JeaR—-R

2025 v vyefedy df=frs @) Soar

s 49 &9 31 9 s
(A) Sraar (B) gerwe
(C) wramg (D) uft

A S e F1 SgHTed o

g _

(A) 28 W71, 1952 (B) 29 3rTval, 1949

(C) 27 Wi, 1951 (D) 28 T=al, 1950
VORI @ UBSl Wewid aie@ 2fd) ymed
wEl wfie & 7 87

(A) SR %
(C) wrer ¥

-magimakﬁﬂammmmﬁﬁmﬁﬁ

BH @ o a7
(A) ErRm urelraa
(C) Hrafde o

{B]mﬁ‘ﬁlﬂﬁ%‘iﬁ
Eﬂltﬂ_‘-rr?m

e & @ fg e &2 _
(A) et wa (B) sfier A
(€) g wrEr (D) o Hren
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3. Which one of the following (Folk drama - aﬁﬁ ¥ B (A ey wo[7)
place) is not matched correctly? qgifel ”. &
(A) Nautanki — Bharatpur, Dholpur () @t ~ YR, Eﬁ?'l'g'-.'
(B) Rammat - Bikaner, Jaisalmer (B) ¥4 — dIFrR, Shrerre
(C) Turra Kalangi — Marwar (€ ﬁ“t Bl — Hare
(D) Tamasha — Jaipur (B) TR~ TagR
35. pgnia, Angotia, Surliya ornaments arq‘: 35. amrfean, amifean, Qorar, AT vy o
worn - co g -
w :
(&) on wrist (B) on feet o~ (A) Eﬁ?-né ™ (B) O_Y
(€) on head (D) in ears % (C) fw W (D) Tl #
36. The first UDAY (Utkrisht Double Decker Airl.‘; 36. e 9qd (S Sad SHY AraTd e ATl
Conditioned Yatri) Express train runse Tra 39 s dg e 22
between - .
(A) Visakhapatnam and Vijayawada F..__ - #1 aIR :
(B) Bengaluru and Coimbatore % (B) 97T AR Piaagy
(€) Chennai and Visakhapatnam E g (C) =g 3 faememagT
(D) Delhi and Kalka 3P (D) Rewlt 3R Hrera
37. Who has built the Shiv Temple of Badelery 37 Ferwd (@ren) & fom wfey &1 Ao faa
(Kota)? w HYTYI?
(A) Mihirkula (B) Bhoj Pratihar (A) Pfevae (B) w1 wfirgR
(€) Bhoj Parmar - (D) Toramana ~ (C) it TR (D) T
38. “llia na deni, aapni, halriya hulraaye, % 38. “gom 7 =, aooft, e g |
Poot sikhave palne, maran badai maaye” O\ g R e, weor 9= A5
The above lines are taken from which book? % Suda gt e Ty ¥
(A) Prithviraj Raso  * (B} Vansh Eh-:-l'.-:‘lfar E (A) m T (B) g% wrare
(€) Kanhad-de- (D) Veer Satsai il L
Prabandh © #gss wgg (D) d¥ werwrd
39. There are a total of 75 Ramsar sites in India l}v‘_ * 39 MRY 2022 T uNT A @?5 YT WF £
August 2022, which state has the maximunﬂa T W waiftw e =@ a ey u
number of Ramsar sites? ﬁ g7
(A} Tamil Nady (B) Himachal Pradesh % (A) afferrg ~ (B) Ruras way
©) Uttarpragesh ) Madhya Pradesh <2 (C) TeR wew (D) memy 2wt
40. The Ministry of Youth Affairs and Sports™ 40 wa1 sy afik W Haerw 3 9 2022 o e
announced the Major Dhyan Chand Khel HEE Wd W [RON 6 IR Sy —
Ratna Award for the year 2022 to ‘Achanta B F ET WO, R W e wer @
Sharath Kamal’, he is related to which sports? 87
(A) Table tennis (P) Lawtanns (A) Taet 2fw (B) = 2fw
(C) Chess (D) Badminton ©) wies - (D) e
N .
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1. Human Poverty Index (HPI) measures the 4. mﬂﬁﬂﬁ"i‘ ?Fqﬁm (Tafiamd) g & W
deprivation as a composite index of - "P: & WU W WO § -
(A) longevity, knowledge and standard nf% (A) Arefg, o AR e wer
ke N (B) Zyaig, U SR s
(B) Jongevity, nutrition and knowledge o
(C) longevity, standard of living and sanitation E (c) dafg, WA WR 3k T
(D) E:;:rledge.-hasic needs and standard nftg (D) =, gﬁl‘ﬂﬁf el sl o W
42. \Which river basin of Rajasthan is in second 42. oot TR B AR g B W/ A4 AR
position in terms hf_ water availability? [.1: IR ¥ fgdm = w 27
(A) Banas Basin (B) Sabarmati Basin % (A) a=rrg AfEA (B) wravHd 4fF
(C) Mahi Basin (D) Luni Basin g (C) =l At (D) T+t ARt
43. Who among the following is not a master of o) 43. E‘ﬁ { HIF HIS WA # Rrgewa =81 7
Maand singing? g (A) Tad) 918 (B) arceire foramg @
(A) Gavari Bai (B) Allah Jilai Bai ﬂ (©) =i ¥ () F
(C) Banno Begam (D) Gulabo _ :
44. \which of the following statement is not true? w— 44 Prefefad § @ P SR ?3?
(A) All the Ministers of Rajasthan are Eahinet‘&‘; (A) YrorerE & Wi WA dfae w1 S
Ministers. 0 (B) wroreerE § HA |fea 30 WA B WA -
(B) Rajasthan can have 30 Ministers includingg #
the Chief Minister. ) (©) Bfye ¥ o N 1
(C) Cabinet have important departments. E L _ _
- : ey (D) Troer R aeHE # ®ig o SuEEl
(D) presently there is no Deputy Minister in = i
the Government of Rajasthan. : |
45. Fiscal Policy in India is formulated by - ?: 45, g 3 vorENE A FEe gRT GaR @
. ?
(A) The Finance Ministry o) I 8 .
" (B) The Plannin Commission O (A) faer w=Terd -
© o8 g g (B) ST ST E
(C) The Reserlvg Bank of Indja B (© D Red 4 -
(D) The Securities and Exchange Board nflnmag (D) S W‘?"’iﬁ' i Rfym O
46. \What is the sectoral contribution of the Gross <= 46. = 2021-22 § voweE ¥ wENT &3 @ ReR
State Value added by the industry sector in (2011-12) Frel W W TS qed A A
Rajasthan at the basic constant (2011-12) o
prices in the year 2021-227? ' o1 ATEH :
(A) 26.34% (B) 24.80% (A) 26.34% (B) 24.80%
(C) 28.15% : (D) 32.20% (C) 28.15% (D) 32.20%
47. Which writer named the books after the name A7, fpw TemR A ST R WA i
of Bikaner Maharaja Anoop Singh? TERTAT 3 Rig B AW W ¥ o4
(A) Lochan (B) Hriday Narayan (A) & @) zea 2
Dev : -
' ©) gl et (P) 9@ WE
(C) pundrik Vitthal (D) Bhav Bhatta
131C Page 7of 24
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g

18. HPCL Rajasthan Refinery |5,a]nmtventure _
hetween Hindustan Ps ‘oleum Corporation
Limited (HPCL) and gover F'z'i‘ent of Rajasthan
with an equity partici duuns of -

[A) 74% and 26% {B} 68% and 32%
respectively ~ respectively
©) 720 2nd 252 48 (D) 56% and 44%
1y esper.twelv

followrng pair (Political Activist —

nm:el'f state) Js not correctly

o -
:halal Vyas — Jaisalmer
hupendranath Trivedi - Kota
Kishanlal Joshi— Bharatpur
qﬁhndit Harinarayan Sharma — Alwar

Match the following —
Folk Deity Birth place
- (1) Gogaji - (i) Santhu
(2) Pabuji (ii) Dadreva E
/- (3) Hadbuji (iii) Kohu
[ (a)Fattaji " (iv) Bhundol
Code -

(A) 1-ii, 2-ii, 3-iv, 4-i (B) 1-i, 2-ii, 3-iil, 4-iv

(C) 1-iv, 2-ii, 3-iii, 4-i (D) 1-jii, 24§, 3-ii, 4-iv
51. The author of ‘Beli Krishan Rukmani Ri’, was

the court poet of which ruler?

(A) Akbar (B) Maharana Kumbha

(C) Shah Jahan (D) vigraharaja IV

92. Two statements are given below, one labelled
as Assertion (A) and the other as Reason (R) -
Assertion (A) : Dadabhai Naoroji founded East

India Association in London.
Reason (R) : He wanted to influence the British
Public Opinion.
In the context of the above two statements,
which one of the following is correct?
(A) Both (A) and (R) are true but (R) is not the
- torrect explanation of (A)
(B) Both (A) and (R) are true and (R} is mrrgn
explanation of (A) .
(C) (R) is true but (A) is false
(D) {A} is true but (R) is false

48.

49.

50.

51.

ra e e ReE Rifids,
freqeam  Upiferm wrOReA A
(ra i ge,) Td Wmﬁ?ﬁﬂ‘-mﬁmﬁl
<Radl e #1 WY 9o €

(A) 7T 74% T 26% (B) 13T 68% Ud 32%
(C) T 72% Td 28% (D) YT 56% U4 44%

B ¥ @ @ @ g (@R
et — waie Rarad ou) gafer el
a7

(A) HroTdd @ — a'ﬁmﬁ?

(B) apirsram et — wier

(C) foperTona Wi — WA -

(D) 4fEe efR=RmeT A — A

hfera #ifTg —

i QA (i ol
(1) TTTAT : (i) 7 '
[2]m\\[~v—unaﬁm
(3) TS i) TIE,

(8) TR (iv) =T
@ p—

(A) 1-ii, 2-ii, 3-iv, 4-i  (B) 1-i, 2-ii, 3-iii, 4-iv
(C) 1-iv, 2-ii, 3-iii, 41 (D) 1-iii, 2-i, 3-ii, 4-iv
‘Wert T THEYT O & wataan 5 IEE
& A Hfa o7

(A) arpaR ~ (B) HERTOM FE

(C) wmerwret (D) fermerar wqef

- H1 21 T Ry g e @ AfieeE (A)

3R N &) ST (R) HET TAT & —
afYwer (a): qrerms ARH A WewT § dw
sfEar vEfueE &1 e 9
PR (R) : ﬂgﬁ%ﬂmﬂaﬁmﬁﬁm
e A |
SRR €1 FYAl @ weH #, Friferea # @
P U WE 8P
(A) Q7 () 3R (R) T & @f (R), (A) B
HE @ el hear &

-(B) 3T (A) 3 (R) e & 3R (R), (A) WY W

R FXl &

(C) (R) wen & A (A) smieg &

(D) (A) wrem & &f% (R) arey &

131C E Page 8 of 24




53. As per Koppen's climate classification, which
of climate Is found in Dungarpur and

type
Banswara district?

(A) Aw (B) Cwg
(C) BWhw (D) BShw

54. Which (Mineral - Mining Area) is not correctly
matched?
(A) Dolomite - Bajla-Kabra
(B) Lead & Zinc - Rampura-Agucha
. (C) Fluorite - mando-Ki-Pal
(D) Rock phosphate - Barodia
55. vedanthangal Bird Sanctuary js situated at -
(A) Kerala (B) Tamil Nadu
(C) Karnataka (D) Andhra Pradesh
56. Which (Cattle fair and District) is not correctly
matched?
(A) Gogamedi Cattle Fair — Hanumangarh
(B) Shivratri Cattle Fair — Sawai Madhopur
(C) Chandrabhaga Cattle Fair — Jhalawar
(D) Ramdev Cattle Fair - Nagaur
57. In January 2022, Central Government’s ‘PM
WANI Yojana' started in which district of

Rajasthan?
(A) Pratapgarh (B) Jodhpur
(C) Sikar (D) Jaipur
56. Where in Rajasthan oil refinery is being
established? '
(A) Barmer " . (B) Bikaner
.+ (D) Jalore

(C) Jaisalmer
59. Which of the following statement is not true?
(A) Ramsay MacDonald called the Collector as
the Institutional Charisma,
(B} In district, the District Collector functions

as Chief Protocol Officer.
(€) The post of District Collector was created

by Warren Hastlngs in1772.
(D) In Article 233 of the Indian Constitution,
the word ’D;smct Judge'! has been

mentioned.

53. @ o srerary THBT B SR, TR i
qivrarer et # 0 TR @ Srearg rd o)
27
(A) Aw (B) Cwg
{C) BWhw (D) BShw

54. gﬁq i (Eﬁﬁ_w Qﬁ] -(Iﬁﬁ;'ﬁ ]

7

(A) Breimrge — AToTll—RTa
(B) e 3iY SI¥Al — RIS

{C}W'— HISI—D1—TTeH E
(D) ¥fe wiebe — aXIEAT
55. darerfrer wefl avavd Red g —
(A) e | (B) afiemrg 4
(C) Fefes H (D) 3y weer #

56. gﬁﬂ-m{crﬂffa'laﬂ?ﬁﬂal ﬂé’fﬂﬁi’éﬁﬂ@f
2
(A) TR gEdEr — EAATE
' (B) Rrawify qegien — WA AEIGR
(C) =gwyTT TIHEN — Selarg
(D) F7Rq e — AR

57. Ggdl 2022 B, BE WeR @ dLgH. ael
mmwwﬁ%ﬂﬁ:ﬁﬁm
Tar? |
(A) FETTTE
(E}‘mm

' ST Ve 27
() FTeR
(C) TRTER

" wive T o)
(B) fret # foenm Ferder HE mam
yfereTd &1 FR] T B
(C) W+ 1772 ¥, afve BREr g forel wetger
&1 ug giow fbar 1|
233 % ‘e

(D) ¥RE & WReE @ AT
O Yee & Sooid@ fhar T

60. 3rTe 2022 7 Reifiy @ argeR, WK A R

60. As on August 2022, how many declared _
wetlands are there in India? wif el W 87
(A) 41 (B) 48 (A) 41 (B) 48
(C) 72 (D) 75 (C) 72 (D) 75

131c X
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k.

61. which of the following pair is not correctly 1. Py=ifey 3 « s T Fhifer 8 27
matched? - (A) 243 R — T uiftramall I &
(A) 243 R — Mention of the composition of
Municipal Corporations oo
B) 243 ZC — Composition of District Plannin
e o Sl o (B) 243 z¢ — oy drem Wiy &1
(C) 243 5 ~ Constitution and composition of (C) 243 s — o1d wRAfYET &1 799 7 HYEA]
Wards Committees -
(D) 243 ZE — Composition of Metropolitan (D) 243 ZE — werTR A= AR &1 e
Planning Committee
52. with reference to Indian Economy, consider 62 WRdrT apsferaver @ wed W, M w e
the following — BT — '
(i) Public debt ” (i) ST oy
(ii} Public revenue & (i) ATEAfE woreE
(iii) Open market operations (iii) G AR F Frag
(iv) Bank rate - (iv) 4% o3
Which of the above is/are component/s of S H A B W/ diie ff 3 ges
Monetary Policy? . : g/&
(A) (iii) and (iv) (B) (i), (ii) and (iii) (A) (iii) 3R (iv) (B) (i), (ii) 3 (i)
(C) (i) Only (B) (i) Only . (C) @ (i) (D) Haet (ii)
83. What is the name of the cremation site of 83 Aarg I WA B e wrw T AW 7
Mewar royal family? ; 8
(A) Mahasatya (B) Kaga (A) "8  (B) Ty
(C) Gatore (D) Bada Bagh (C) e (D) T apr
8. When did Maharana Pratap make Chavand his ~ 64. TERTT a9 3 A1avs o7 o+ el a5
capital? 1T AT
(A) 1576 (B) 1582 (A) 1576 (B) 1582
(C) 1585 _ (D) 1580 (C) 1585 (D) 1580
85. Which of the following statement is incorrect? ~ 65. Frifea % A S B s 22
(A) PESA Act is applied to 9 states of Schedule (A) ﬁ:_:n (PESA) arfifam TG ~5 B 9 woqt
5 - qamd . |
(B) The PESA Act was enacted on the . .
recommendation of Dileep Singh Bhuria (B) trey (PESA) W feefia Rie "Iﬁm
Committee, SRR B SR W g |
(C) Panchayat (Extension to Schedule Area) (C) Tamga arwfaa 831 9 fwar (UrT, PESA)
(PESA) Act was implemented on 24% SRPRM 24 RAEY, 1996 7 HT'I.‘EW'
December 1996, (D) IR @ ) e i
(D) One of the objectives of the Act is to ¥, L ST
Protect and conserve the traditions and '\“lﬂ?l’ﬂ’f Eﬁ TR T %ﬁﬁm"-ﬂ P
- customs of tribal communities, VET QT R B E |
8. Giral lignite thermal power project s located - 86 it fopge wmw wifdr aRaitor fe g &
in which village? , fem @2 -
(A) Ramsar (Ajmer)  (B) Siyana (Jalore) (A) Y07 (3rr) (B) Ryamon (wreiy)
(C) Samdari (Barmer) (D) Thumbli village (C) ¥rey @R (D) oyl g (@TS)
B
131c X Page 10 0f 24
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67. Which of the following statement js not true

about ‘Kalibangan Civilization'?
{A) Camel bones have been discovered at

Kalibangan.
(B) Luigi Pio Tessitori, an Italian Indologist
" found the Kalibangan site,
(C) Kalibangan has provided evidence of the
first recorded earthquake,
(D) pre Harappan fire altars have been

discovered.
68- Which is the rank of India in the recently
released Global Hunger index 20227
(4) 107 - (B) 110"
(C) 102 (D) 109™
69. Under whose leadership, thousands of women
participated in the conference held at
Katrathal on 25™ April, 19347
(A) Rama Devi (B) Durga Devi
(C) uttama Devi (D) Kishori Devi
70. Gopal Saini is related to which handicraft of
Rajasthan? '
(A) Terracotta (B) Wood Art
(C) Theva Art (D) Blue Pottery
1. In which of these countries is the G-20 summit
proposed for the year 20237
(A) China ~ (B) Vietnam
(€) India (D) indonesia
72. Consider the following statements regarding
the Goods and Services Tax Network (GSTN) -
(i) it is a non-government, private limited
company.
(i) It is a not for profit cumpany
Select the correct answer using the code given
below -
(A) Neither (i) nor. [u} (B) (i) only
(C) Both {ijand (ii) (D) (ii) only
73. Who was the Ruler of Bikaner who supported
the British through his army for suppressing
Revolt of 18577
(A) Sardar Singh
. (€) Ganga Singh

(B) Ratan Singh
(D) Dungar Singh

67. fymfaifaa # @ ©F W BUF ‘Hrellamm Ja

@ fayg F wd 7 87

(A) e @ Hhe B RfEdl & wew B €

(BY i @) @l Ud gared) st
aeh far SRER 3 & oy

(C) wrehem @ WM 3HfEH fag T HFT B
ey firet 21

(D) v mew AR & wew it €1

88 w7 € 3 o) AT [T Gewiw 2022 % ARG
@ FET wIE EY

(A) 1074 (B) 1104
(C) 1027 (D) 1094df

69. forud g #, 25 aie, 1934, H HexEA |
s fwme Afeen ST H gl HI%Hraﬁ
= e ferar?
(A) 71 3 “(B) g b
(C) a1 24 (D) fpeisy =

70. Trer S T R TR A R eeawet
T 87
(B) éxrehraT
(C) <ar we

(B) &1 &Hel
(D) &g dfe)

7. g 2023 FT H—20 Prex w6eE fm 49

fa <o # wwarfea 27
(A) = (B) fazer
(©) wRa " (D) URRARE

72. 1 3R WA Y Acdd (MUEATE) B way
¥ F=fefen st @ fem & -
(i) 7% vH IR e, mgde fofes ww R
(i) 98 U@ IR oW @ 2

MY — |
W@ ) @ daen
(©) =i (haik (i) (D) Hadt (i)

73. 1857 A wify &1 war @ forg, dwrR @ e
TS A ST B d= wErar €
(A) w5 fig (B) v fiig
(©) i Rfg (0) g fife

1a1c X
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74,

75.

76.

.

Which state of India has highest potentiality of
wind energy?

(A) Gujarat (B) Karnataka

(€ Rﬂiﬂ'hf“haﬂ (D) Tamil Nadu

Who armagng the following was the author of
the b disalmer Ka Gundaraj’?

(R) Ma@a Lal Verma (B) sagarmal Gopa

(C) Hirﬂgfjﬂhastri (D) Jai Narayan Vyas
Who is famous with the name of Narsingh in
Rajasthan?

(A) KaviDurlabhji (B) Sant Ramcharanji
(©) san{Rpjjab ji (D) Sant Charandas jj
Accurdﬁtc Col. Tod, Meena's originally
belong hich of these places?

(A) Kali®Rati (B) Mukundara Hills

il
Mowgiain ranges

75.

76.

(B) wafew

(A) T
(D) wfiferrg

(C) IorEm=

WNICHR BT RIS [d & oea fre 4
Hi &4?

(A) mferagere aaf  (B) WP Wi
- (C) BRIl W (D) TOARE Ty
TR # RHE @ W 4 oufes § -

(A) i gerol (B) el eI
(C) Wl Twold Wit (D) g =NUERGH

== 4 | &9 w1 oar?
tﬂlmmmiﬂlaﬁﬁwyﬂamﬁ

(C) Abu¥WTountain (D) Kali Khoh (C) arg wdermren (D) Teft g gdamre
ranges Mountain ranges .
78. In whichpart of Rajasthan the ‘Entisols’ soil is 8. yoveE B e W A vy TaT it
found? N ' Rl 27
(A) Soutigrn (B) South Eastern (A) giemf (B) gfdyoy Tﬁ
(C) WE%H (D) Eastern . (C) ufderfy (D) ‘f-ﬁ
8. Who affdng the following is not in the 79 Yioer oy WEAAIRIGR ST @ oz @
Sslecticﬁmmmin.ee of the Chainnan.and ’ Jawdt B w a@he ﬁ e
membexsof the Rajasthan State Human Rights . 5 FTherae
Commission? . e et g &
(A) Home Minister  (B) Leader of the (A) 78 W *(B) fauer &7 =4y
~— Opposition . ‘
(C) Goviegyror (D) Chief Minister (©) o el
80. The cﬁtruction of Bisalpur Dam was 80. Eﬂ‘ﬂﬂg‘\' gu &1 o few oo o
compleggp in which year? - Bon?
(8) 185 (B) 1996 BE (1099 (8) 1596
(C) 199y (D) 1989 (€) 1992 (D), 1989
81. Which F the following region of Rajputana . 81. fyiffee # ﬂﬁm ﬂ;%ﬂﬁ @ fay & %
was ruled by the Varik dynasty? qu = weA 7 4
(A) Alwar ' (B) Bayana (A) areray (B) sm=m
82. Which country got the maximum export from 82 Friifds 9 ¥ <1 7 af 202122
l: ) IE;:the e (B) UAE (A) ZTIT. (8) gug
(©) China (D) Brazil (C) #= (D) arafid
____________‘_____.___:_______.--"'_
Page 12 ol 24
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i

. 83. ‘Utsav Bhoj Yojana’ in Rajasthan is related to - IRns # aeEd | 3T HERd € —
| (A) Indira Rasoi Yojna (B) r;‘hd day Meal (A) £frer v Ao (B) Pre—2 Sy droen
: ojana .
| (C) Food in-Night (D) Communi (C) T #7=T # o= (D) Wﬁ'ﬁﬁ faame
: Sheltor MarriaggScheme . T—f‘ﬁﬂ:ﬂ
; 84. Who wrote the book named 'Ham ath'? e4. Jﬁ? g AHE T w m-l?
| (A) Chandrashekhar  (B) Keshav (A) g (B) Fvgey
| (C) Dalpat (D) Jodhraj ¢ (C) Terd (D) e _
85 Akal Wood Fossil Park is located iffahich of 85, amee wre Siare Sar FE § &
i the following district? g ¥ Reorg 27 ,
; (A) Jaisalmer (B) Rajsamand (A) ST (B) YraaHE
| (C) Bundi (D) Pali ©) T (P) ureft
|r 86. National Bank for Agriculture qad Rural 86 wfi oY ok wHl fawm 4% (Frats)
Development (NABARD] was estabifthed on - =g §‘§ of—
(A) 12 July, 1986 (B) 12t JulysEha2 (A) 12 5erd, 1986 BT (B) 12 TS, 1982 i
(€) 12" July, 1978 (D) 12t July%gz (C) 125ard, 1978 B (D) 12 FelTe, 1992 Bl
© 87. |dentify the Chairman of the Rajasien State 87 TR I HEARBR AT & U8 g
: Human Rights Commission, who als@3served as w1 fiftg #foe o S=Ow WEwd
the Judge of the Supreme Court of ey o w27
| (A) Nagendra Kumar (B) Kanta Kumari :
,E Jain . Bhatnagar (A) R BAR o (B) i % I HETR
| (C) Gopal Krishna Vyas (D) Saiyed Saghir (©) M gwr arg (D) ¥rarE Wik aEs
| Ahmad
~ 88. From the following battles, choose fha correct 88, iRt EAY T ae T &l &
: order from first to last according t8:the year AR Ugel ¥ AfEd aF wel F9 Bl ﬂﬁ?
| they were fought — Y (1) :Trrﬁ‘]:r T g8
(1) Battle of Gagron o 2 el
(2) Battle of Sarangpur € (2) ¥rTg 34 ' E
~ (3) T T TF
(3) Battle of Bayana o
: (4) FTaell @1 g
(4) Battle of Mavli -
Choose the correct option - el e TT -
(A) 2,1,3,4 . (8)2,4,3,1 (A) 2,1,3,4 (B) 2,4,3,1
(€)1,3,2,4 (D) 1,2,3,4 (C) 1,3,2,4 (D) 1,2,3,4
89. To which age does the artistic splendour of 89 ST 1 RS @ FereTH P e
Abhaneri and Rajoregarh belong? pno BT T WA 87
(A Guhil - Sisodia  (B) chauharm (A) Tiew — fefea (B) =T
(O Gurjar - Pratihar (D) RathnreN (C) Tolk — ufagr (D) WiBls
90. Which one of the following is Not B@uded in  90. fr=foiam & < war sy sfaraen @ i
the Agriculture and Allied Sewice Indian AR Hag Jaait § aftefea 781 &7
Economy? i g
A ARl B) eld Gal
(A) Food Processing  (B) Lagglng [’l‘f‘bes] :c: jﬁaﬁ inl' (gei )
- (C) Forestry (D) Fishery , . (D) e
i 91. Saint Haridas was thE foundEf o | R 1. Eﬁ Eﬁ_ﬂfﬁl‘l, = Wl ﬁm $ w
; sect. | ' _
(A) Ramsnehi (B) Niranjani (A) XTI (B) fAver
(C) Alakhiya (D) Nimbarka (C) srerfa (D) FrT@
;.}zlc E Page 13 0f 24
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- 92 In which of the following, the archaeclogical ~ 92 Fifeiflas # 9, di= e "ﬂ"“eﬁm et
. remains related to Buddhism are found? Ha9y wEf e &7

(A) Naliyasay (B) Raidh (Tonk . l
(Sambhar) oo (A) Afeanr (@hR)  (B) 39 (B |
? - (C) E:::T;'l (Virat (D) madhvam}ka (C) Fvr= (fawre 77R) (D) wAreafiy F“T‘h} 1|
I8 r agari) |
'93. In Rajasthan the major districts of maize 9. v A wwm @ T & e T
¢ cultivation are . g - .
(A) Banswara, Pali and Sirohi _ E (A) arwarer, wet oft FaiEt
* (B) Baran, Kota and Jhalawar (B) A<, wrey &R sremars .
{C) Chittorgarh, Banswara and Bundi (©) ferciteme, afware iR 48
- (D Baran, jalore ang Pratapgarh (B) awi, Wik iR wamTg
- 94, Which gne

of the following is the correct - 94. ARA A B SearEE T BT e #
dEEEEﬁding orde

r of the coffee producin FreraT
states of India? % s & wEl gear BT A & &?
(A) Karnataka > Kerala > Tamil Nadu > Andhra

Pradesh (R) Fiess > Bee > afierrg > oy Wiy
(B) L(Ea"g:;ﬁka > Tamil Nadu > Kerala > Andhra (B) Fiem > dafierrg > 3R > 3w way
(C) Andhra Pradesh > Tamil Nady > Kerala > C} arf
':.Ftiatrnzn:;lkz.mI . = e (C) 3t w2y :’m > > FieH
(D) Karnataka > Kerala > Andhra Pradesh > " D) FElew > dvd > oy ey > ATy
Tamil Nadu 3 -
95. Assertion (A): Teak trees are mostly found in 95. Hom (A): ¥orerss &% gfEft &= & wrmas o
f southern part of Rajasthan. 981 St U W &)
. T " Reason (R): The teak can bear extreme cold YA (R): AFTAE afYs w91 5 OTeiT W&+ ¢
and frost. U R :
(A) (A) is true but (R) is false (A) () T2 & ofss (R) TTer 2 |
(B) Both (A) and (R) are true and {R) is the (B) (A) afiR (R) BT WA & o (R), (A) & w4
‘correct explanation of (A) _ T & L |
(C) {A) is false but [R) is true {©) (A) e B E-‘{fﬁ-:‘?[: R) & |
(D) Both (A) and (R) are true but (R} is nutthe_ 0} (A) 3R (R) S} w2 fg (m), (A) =&
correct explanation of (&) - WE = T8 8
%. Morley — Minto reforms were aimed at — 9. Tt — ey WURT @1 9REg o7 —
(1) Promotion of education (1) fFren =) CEE R
(2) Reserved seats in Provincial Assembly for (2) wicha Rerren § <fimt @ oo amfde
Dalits g e N _
(3) Separate electorates for Muslims . (3) oAl @ ﬁ‘mlaﬁm ﬁ'ﬂhﬁﬁ wed
(4) Increase in the number of members in ~ (4) B B 9fReg § waw @) g §
Legislative Council at Centre ECART AL _ "
Select the correct answer from the code given W Ry ﬂﬁ%ﬁ A w8 S &
below - = - 4
(A) 1,2and3 () 1,2,3and 4 (M) 1,27d3 (B) 1,2,37
() only3 - O only2 - | (C) dewiz - (D) ?Baajﬂ______,_
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' . BeN—arf ey : ‘
97. From which district of Rajasthan, the Hell- 97 e waws @ fore T Tt

Borne survey technique for ground water ;ﬁ; ey eReE & few R 4 R Ty .
' as been launched? _ |
::::i‘i:j: " (B) Bharatpyr (A) SiTerye ::: REGLE
(C) Kota (D) Jaipur . _ (©) wie | Gmg'{
98. Who was appointed as the new Chief Minister 98. w¢ 2022 W [ERE @ AU Terd frg E"@?ﬁ
of Tripura in May 20227 R mar? |
(A) Eknath Shinde  (B) Biplab Kumar Deb (A) g=my RS (B) fyery zgmlﬂa
(€] Dr. ManikSaha (D) N, Biren Singh (©) S s wET  (0) 1, W R

% Who among the following ‘Padma Award - 99 ‘Uz qwaR — 2022 @ senferftam et

2022 recipient is related tg Rajasthan?

B Yo | wafk 22
(A) Vandana Kataria (B) Shakuntala
' Choudhary (A) = FeRAr  (B) Yawren i)
(C) sheesh Ram (D) Chandraprakash C) P wm (D) Tgyamrer e
Dwivedi ‘
100. Where will the ‘Khadi Plaza’ be Constructed by  100. RIS I CARG B 1 i e
Rajasthan Khadi and Village Industries Board? e @1 A wEl R Sy
. (A) Jaipur (B) Udaipur (A) STqe (B) Seamz
(C) Jodhpur (D) Bikaner (C) Siverge (D) $rFmw
101. page fault occurs, when - 0. %51 v ag g 8, g —
(A) the page is present in memory (A) &5 #Wrly HioE 8 E
(B) the page is not present in memory (B) o #urdy % Hiog =t &
(C) the buffering occurs (C) s iy 2
() the deadlock occurs (D) Seaii Bar 2
102. Consider following statements, in context of  102. SIagie ¥ ue e @ TR WF T B firg
M5-Word — 2019 keys for moving around UATY. T€ - 2019 ) ool & wed § fs
- documents — B w) AR &Y — 1 .
:END E"ﬁz[ﬁz i i
I : Pressing END takes you to the end of the ND Zard W,m B 3 W ag=
.- | fod sy ¢
document,
| ||:Pgnnaaﬁuqaamzﬁ‘rw#ﬁ=ﬁ%m§m
I Pressing PgDn taII{es you down one screep, R W 8| ' ;
I : Pressing Ctrl + Home takes you'to the top 1 :fﬁ"i?-r + B (Ctrl + Home) gar ) 3T
of the document. mﬁﬁwqﬁmﬁmmh
Which of the above statements are true? : E'tl'\"ﬁﬁ iy B A U Hg &Y _
(A) 1 ang (B) 1and Il (A) 1 o )y (B) | 7T Il
© 1, 1ang (D) 11 and 1l €)1, 11 gy (D) 11571 i
- e ————
31c [X] - _
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s..second  generation computers  were

developed during -
(A) 1970 to 1990
(C) 1649 to 1670

(B) 1959 to 1965
(D) 1965 to 1970

104. which of the following statement s false? "
(A) Trackball and Joystick are pointing devices

like mouse.

(B) A digitizer is an output device.

(C) OCR stands for Optical Character
Recognition.

(D) You may find pre-printed MICR characters
on bank cheques.

105. Which command will be used to display the
format cells dialog box in M5-Excel?

(A) Ctrl + 2 (B) Ctrl+ 1

(C) Ctrl + F (D) Ctrl + D

106. Read the following two statements —,
. Information and Communication Technology
(ICT) is considered as a subset of Infarmation

Technology (IT}.
Il. The ‘right to use’ a piece of software is

termed as copyright.
" Which of the above mentioned statement{s)

is/are correct?
(A) Neither I nor |l
(C) 1l only

107. \What is formed in the reaction of sodium

(B} Both I and Il
(D} I only

hydroxide with zinc?
(A) Zinc hydroxide and hydroxide gas

(B) Sudiurﬁ zincate and hydrogen gas

(C) Zinc hydroxide and sodium ; E
(D) sgdium Zincate and water

108. ppis florea IS related to “which of the

following? '
(A) Silk warm
(C) Honey Bee

(B) Termite

(D) Lac insect

i S—

134 IV'

"

103. f&<ira W+ Wﬁﬂ 7 fbe <R i
fopar T or?
(A) 1970 %1 1990
(C) 1649 ¥ 1670

(B) 1959 ¥ 1965
(D) 1965 ¥ 1970

Repfimer 21
P fF 4w W I T F W
o MR, FER 91 6Hd €|
105. Ms-EncelﬁﬁﬁﬁﬂFﬂwmﬁ%

v @ ford Reg e &1 SUAr HAl?
(B) Ctrl +1
(D) Ctrl+D.

(A) Ctrl+ 2
(C) Ctrl +F

106. fy=ferfiaa &1 BUAl & U8 —
|, e AR EER dienfrel EEAE) @
T S (L) BT HHe /AT Wil

2l
L Bt SoeR @ Swi @ IR @

PTYRIST HET TR 2 |
S # @ B W/ FO W &/
(A) 7 @Y | 3 A7 € 1(B) | 3R 1 T
(C) wagat Il (D) &ae |
1“-%’?53#@%?@;%?:%@%
ﬁwmg?-z.umauw-a ZrasHri
() R BEgiawss T TEgirRs 19
(B) wifeas Ride iR T T
(©) fifer ergiaEs I wfew
(D) wfemm fifde ailv
108. uftrg wehRan it @ fed TR

87
(A) e P (B) A
(C) wepveredl (D) 7T B

A

_____._.--"'_"'_._-_



Y L

109. The resistance of a copper wire 200m long is
2140 If its thickness (diameter) is 0.44 mm, its
specific resistance is around -

(A) 18x10*Q-m (B)14x108Q-m
©12x1000m ©® 16x10%Q-m

10. ... is an example of physical change.

(A) Making of curd from milk

(B) Burning of candle |

(C) Blackening of silverware

(D) Dissolving of sugar in water

111. Which one of the 'IFnliﬂwing is @ viral disease in
animals? :
(A) Johne's disease  (B) Anthrax
(C) Blue tongue (D) Milk fever
disease :
: 112. Which of the given erzymes is responsible for
the digestion of milk protein?
(A) Erepsin (B) Trypsin
. (C) pepsin . (D) Rennin -
113. Match List-l with List-ll and select the correct

answer by using the code given below -

List =1 List—11
(a) Hydrogen bomb : (1) Fission
(b) Atom bomb (2) Fusion

(3} Critical mass

(4) Mass defect

(c) Binding energy
(d) Nuclear reactor
Code -

(&) () - (2), (b) ~ (1), (¢) ~ (3), (d) ~ (4)
) (a) - (2), (o)~ (1), (c) = (4), (d) ~ (3)
(© (@)~ (1), (b) - (2), (c) - (), (d) - (3)
©) a) - (1), (b) - (2), (c) - (3), (d) - (4)

111,

112.

0= g P e b
200 ¥ieR @ @i @ R F UM 21.Q 2
zﬁgmﬂmﬁﬁmmq@ﬁﬂ%ﬁﬂﬁﬁh e
Riftre afWe smaoa & - L
(A) 18x10*Q-m (B 14x108Q-m "f;.é-i' o

(©) 1.2x10* Q-m (D) 1.6 x 10® Q-m Y, _E
WL Wifds aRads &1 UF I 2| ’FA‘%}
(A) gur A g a7 s e
: : "
(B) Hmaf @1 WAl #%E; yaeoP
(C) =<t & we=l &1 STl mt“,ﬁ

(D) At 1 o A e .-l
iR DA W P U H v

T 7

(A) Wi R (B) Tt

(C) el forgar d1 . (D) e wiaR

' @ em @ forg Ry v gl F 9
HiF—ar forER 87 -
(A) TR
(C) aftg

(B) fefe
(D) A

113, 13 e 9 gafera @i ok = R
T e @1 SwET #R W SR TR -

T - gt — 1l
(a) BEgE @ (1) fawves
(b) WA &H  (2) Herw
(c) deF1 St (3) Wi waw™
) WY Ed (4) g s
e . :

(A) (a) - (2), (b) - (1), (c) ~ (3), (d) - (4)
(B) (a)-1(2), (b) - (1), (c) = (4), {.d} -(3) =
(©) (a) - (1), (b) - (2), (c) - (4}, (d) -~ (3) -
() (a) - (1), (b) - (2), {c) - (3), (d) - (4)

e
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114. Choose the set of true statements from the
following -

Frfefaa # @ @@ @ & wE &1 9.

| (1) "u"ine.gar is an aqueous solution of 5% - 8% % (1) 5% - 8% uftfe® arst @ el fRAeas &
acetic acid. o e Teg &
(2) Hydrolysis of fat gives glycerol and ﬁ (2) a9 3 == amged ¥ Foadfa @R
carboxylic acid. 7 FTE S et o B £
(3) Teflon is used as solvent. g (3) 2udf F7 wugm fews 3 w5y § R
(4) The chemical formula of washing powder is miG A
Caocl;. ¥ (4) CaOCI, 31 TEER F IAFE G 2 |
(A) 3,4 (B) 1,4 0 ()34 ®) 1,4
©1,2 (02,3 9 ©12 () 2,3
115. What is the percentage of Photosynthetically %5* yETIEe wu ¥ ufra e (@oam) &
Active Radiation (PAR) that is captured by the gy (07T Wftwm Wi gwr wewr fmar <
plants? b -7,
(A 2-10% (B) 5-10% — (A 2-10% (B) 5-10%
(C) 2-15% (D) 2-5% 5‘5 (C) 2-15% ,oq8 (D) 2:5% v 9 ® i
116. |f ‘CEG’ is written as ‘TSR’ and ‘FHJ’ is written afe & aﬁif?ﬁ%‘ga fFﬂf’“ﬁ F‘:‘L’i'rf'm:*f feran
as ‘QPO’, then ‘IKM" is written as - e 8, < KM Y RS TR foRa
(A) NOM - (B) NOL < (A) NOM (B) NOL
(©) MLN (D) NML 2 © M (B) NML
117. The next term of the following number series 7. Wﬂ mﬂmﬁﬁtiﬁ“
0.2 e BIBRGLF  wles
finliizﬁ’ e (B) 258 ;% - ?Tfﬂ'%;: 258 )"
(€) 270 (D) 252 o (€270 . (D) 252
118. Yere, a statement is followed by two 8. e, ¢@ wort & wEER A @ venn R ¥

arguments | and |l are given. You have to g amua Bfee m 2 fr B/ it
decide which of the argument/arguments o S o FIT T 8

is/are a ‘strong’ argument and which is a- T ;T AN BN IREN B T S
‘weak’ argument.

ey’ —
Statement : SpiTllul'.ie_i’ncome tax be evaded by - P sm i
Arguments : |. Yes, Taxes are-excessively high. . 7Y, TE BeITT HRIwH I A
II. No, it will hamper the welfare L B
programmes. " (A) fE 7 AR N AT
- (A) if neither | nor Il s strong B (e afe e T
(B) If only argument |l is strong il o . .
(C) if both | and Il are strong ) E
(D) If only argument | is strong _’_/jw—’_ e &
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119. If Sohan, while selling two goats at the same
price, makes a profit of 10% on one goat and
suffers a loss of 10% on the other, then which
of the following is true?

(A) He makes a profit of 1%

(B) He suffers a loss of 1%

(C) He makes no profit and no loss
() He suffers a loss of 2%

120. Two different positions of a die is shown
|

below. Which number will appear on the face
{ opposite to 57

(A) 1
) 2

131302687

(B) g
D) 3
121. |n a certain code language, "479" means “fruit

issweet”, "248" means “very sweet voice”

“637" means “eat fruit daily”. Code for “i
equal to -

(A) 7
€9

268

(B) 4
(DY B
122. |f the income of x is 10% more than that

and the income of yis 20% less than that
then the income of %, y and z respectively

o
™
—
o
F

-

of
of

P2

¥

B
in the ratio - W (s 0]
(A) 22:18:25 - (B) 10:3:7 ﬁ
(C) 22:20:25 ~(D)11:10:8¢ o
123. Umang said to Uma —

"You are wife of Hve

grandson of my mother". Who is Uman@
Uma?

‘-/ﬂﬁ-{ﬁf:[ 21 gl @ T I U auay,
wﬁﬁmlﬂ%ﬂﬂmmﬁaﬁ?@ﬁ

W 10% e @y e & A B | @
ﬂ—a%?

(A) 7§ 1% &1 @ T

(B) W9 1% % = BNl ©

(C) T =1 &t @ @A & 7B Ef
(D) = 2% @ =fY B 2

ﬁﬂrﬁaﬁaﬁﬁrﬁﬂﬁuﬁm%ﬁﬁﬁﬂﬁ
%Lﬁ%ﬁqﬂawm-mmﬁ@ﬁ

/ £/ 1 6

E

4 2

Il
(A) 1 (B) 6

(C) 2 (D) 3
121. gz f¥aa @ o F “479” &1 3 “fruitis

-7 Al
\—sweet" &, “248" @l A “very sweet voice” &

WY 637" @7 3 “eat fruit daulf’ &

THe AET § — ’?ﬂ%
(A) 7 (B) 4
(© 9 s - P“*

AR x W AW, ¢ B W W 10% 3R B we y

W A, 1B AT [ 20% BT B, A 1, y T 2

& Fies 3 HE B - -Bn'*tf-&"”'

(A) 22:18:25 (8) 1097 y, e 7275
“"(C) 22:20:25

(D) 11:10:8 ~.a~f~=|.|v,._ ﬂ"'f‘-"*fﬂ
123,

FHT B FE — W W Tar F fm Y
TR B SHT @ 9 9 aan ey 27 o

e,
i (A) formm (B) ufiy
Father " {B) Husband
(C) Father-in-law  '(D) Grandfather Ll gitit (D) 5T
124. 'p’ walks 10 m towards East and then 10 124, p 10 Hrex T.‘E # 3R Te & oafe B 10
his right. Then every time turningtnhisleh% E ?ﬁf = 3R Wy &) e By T sah
walks 5, 15 and 15 m respectively. How f Hed, 98 @93 5, 15 Al 15 Wiew
T| : i ~— T B | AW Te A WK v W b
\ he now from his starting paint? o 0w 7
(A) 10m. (B) 15m L (A) 107 (8) 1541 =
et :
© 5m‘1‘=1n \qs:ql.l,ml el we 2 (C) 591 (D) 20 - ‘:"
M-:-‘ ¢ = W ] Ll 5
mc X j3% omdhe OO i e
Lt B oo "14 |-r (3% ]

uu-Mw e,

~



W

125 If the simple interest for 5 years be equal to
20% of the principal amount, then it will be
equal to the principal amgunt -

t welt ‘A) in 20 years (B} in 15 years

€) in10 years

[
(B} in 25 years

125 Area of a rectangular field is 300 sq. meter. If

/~ L PEETE AL, T

)ytrﬁz :
CLICE

"L“Q*’p'-

s o @7 ARV L T @ 20y 4
& o g8 gerT @ WA & em -
(A) 20 it # (B) 15 aut

(€) 10T 25741 H
rrymp——————C R

" af fagef g A9 25 WeX B, @ FTE g

:7{?. length of its diagonal is 25 meter, then the
dﬁ ,F:E.Flmeter of this field is - yx i%'ht : gftamg & — 6 bt o
(M) 84 meter (B)90meter, e (A 84HER (B) 90 Hrew
(C) 70 meter (D) 80 meter k=1 €50 #e (D) 80 Hrex
127. Average of all even numbers between 320 and 320 TN 350 W Fed @1 WM UH W @
350 is - | goxe™ qf—-f”élu mg,ﬁ%'ﬁ Y 1
@335 o a@BE S W335 B W (B 325w C 9
(C) 332 @330 o 332 b 4@4D) 330
A 123 How many triangles are there in the given /ﬂ’%‘ Hipid | %ﬁ#
i }3. figure? | ;
| F g 7
(A) 16 (B) 17 (Ay16 - (B) 17
(C) 15 ; " (D) 14 (€) 15 (D) 14
.I'ngl' If (+) means (), (+) means (+), (x) means (=) \1_29/-31‘2 (+) @1 F (x), () BT @f (+), (x) BT ek
A+ 223900 and () means (+), then the value of D‘f&-ﬂ— (=) 3T () &7 I (+) 8, ar
a vy’ 124:32-8+2x11isequalto- ""',;; Y 124332:8%2 811 %7 T WY @ —
li (A) 120 (B) 132 E (A) 120 (B) 132
i © 121 (D) 144 (C) 121 (D) 144

130. A, B, C, D, E and F are sitting in a row. E and F.

are in the centre, A and B are at the ends, C is

sitting on the left of A. Who is sitting on the

M_B;Q,D;EWFWﬁﬁﬁﬁﬂﬂgﬁﬁqEﬁ?
Fos (7)) 7 92 & AR por w8 &
CA & Tl R ¥ B B B gy g A

right of B? A do1 gam #?
(A) A (B) F (A) A - (B) f
“(c (D) p ;
- 9% L el cn v ik
E e il "




\Wﬂﬁﬁﬁiﬁﬁrﬂwaﬂmﬁmﬁmﬁg&nﬁ

(A) WS o wAE § o T #) (B) frema & ww U 9 &
(Y % ) apfi 7T 2 (D) =irgr & e amgy |
yrrm fare & gfie 9 39T Rea gfo -
(A) ot — Ao & forg (B TR — R i
(€) FTorars — WA @ WY (D) domest — g9 9 aeA

'“-ﬁﬁﬁﬁﬁmmﬁwﬁuhmmgmﬁ?
\ 1) zger e @ R 3T ] _{.Bi”qéqﬁmﬁaa?%%“l
© gfers 3 = F_F AR A1) (0) 7rgfA & fog awem A @
\/ﬁ?ﬂﬁmﬁa%mﬂﬁmwwﬁﬂﬁﬁﬁ%? Wt iy W
(R) e, sy 5 (B). s, o Wik~ KD
LR tmmm""‘”“*‘“ (D) siferare, sreeEn
135, e @ v @ WAy § - wo e 27 {
(A e @ W T @l e @ R '
(B sifiare, W, wa, Reie anfe § wer wEw afteres @ are ) '
(©) Swaradt ) 3R N B P [
(B} wrarfe 4 el W) 7@ 3 & fory)
136. forw famen & o W= ol @ o) &

(A) w=omg, o, Fr=r (B) amfg wafy, =fw
(C) worit, mfi, AR (D) =, wer, Pavay
y%ﬂmﬂﬂﬁaﬁﬁqwmmgmg?
(A) #fari — amasas (B) wfeer — gfew
AC) =fy — warg ' (D) Y - R
(138 ¥ 9 g ¥ Wi Rwea w1 T B — 35
1{;1 (A) 7% + YUY =, TwIRH i) (B) o + W = IEqe
(€) = + = | :n;faﬂ+m Ry
e BT b T g
" N WG PS4 S
PEsfF 51

@ (i)~(a), i), (-3, (v} =0 ® ()@, (i}, (i), (v)-(a)

© (i), (ii)~a), (jit)—~(=). (iv)-@) © (i)-G@). (i}, i)~ @), (iv)-
y/m e g (iv)-(@)

(A) T8 B B9 g 22 (B) T91 3 T8 & 9y Ry

(C) =Ie g a1¢ wrs amow Wi 3| tnl-&ﬂmmmwmmml
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Direction (141 to 143) : Read the passage carefully and answer the following questions -

But before | could be inspired by these amazing people, | had to cleanse my feed. | know my

weaknesses: just last week, Facebook ITIEmunEs reminded me of a pizza party I'd had two years
ag0 © | ended up ordermg a chicken dummatcr. with garlic breadsticks and an Jalapeno cheese
di . much for Day One of Couch to 5K training. | stayed right on that couch. So far I've unfollowed

eed Tasty, TasteMade (even their adorable Tiny Kitchen) and several people who have the
ble'advantage of being able t_:.; eat as much as they want and not put on weight. By my
calculations, dark chocolate is hea'ithy Su I'm 5t||| fallnw-.ng Earth Loaf. Pascati and Mason & Co.

When'| f'ﬂH"if found a gym | liked with tha hest tramers 1 have had, | unabashedly shared my

workouts every day. From shying away from full-length pictures, | reached a point where | could

share videos of myself deadiiﬁing and doing back squats with a barbell across my shoulders. It
gave me accountability,

141. Which of the following word in the passage means ‘very desirable’?
" (&) adorable

(B) enviable e E
(C) cleanse (D) inspired .

&Which of the following is a page related to chocolate?

143. The word with the méaning opposite to ‘shamefully’ in the passageis- .

(A) Earth Loaf (B) TasteMade

(C) Buzzfeecl.*l‘ast',f (D) Tiny Kitchen

(A) enviable __ (B) weaknesses .

(C) unabashedly | {Dl shwng

144. Match the sentences in the En[umn (A) with appropriate prepositions in Column [B]
Coiumn {A]

Column (B)
(Sentences) \ﬁ"i\h (Prepositions)
(a) The train met .........0%....... an accident (i) for :
(b) Such an idea would never occur M\D me, T >
(c) He has been in this office .{‘.,r a year, ' (i) with” **
(d) Wise people do not believe ................. superstitions, (iv) to

8Y(a) - (jil), (b) = fiv), (c) = (i), (d) - (i

®) () = (iv), {b) ~ (i), (c) = (i), (d) = (ji)
(C) (a)— (i), (b) = (iii), (€)= (iv), (d) - (i)

®) {a)~ i), {b) - (ii), (c) - (i), (d) - (iv)

131C
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145. Fill in the blank space with the correct phrasal verb from the given options —
‘.’,,f"‘

“ The meeting Was ............ because of bad weather.
(A) called off ~(B) call back
(€) called in ' (D) called back
&What is ‘Pseudonym’ in letter writing? .
(A) Fictitious name (B} Name of the Editor
(C) Legal name (D) Real name

147. Choose the correct English translation of the given sentence —
e R A g A W TR A o el AN waR e €

(A) | take out my shoes and socks at the time of entering my / room.
(B) Itake off my shoes ;znd socks w.;hilqz: entering my room.

(©) 1take Dl.-lt my shoes and socks before | enter my room,

(D) | take off my shoes and socks befare entering my room,

148. Fill in the blank space with the correct determiner -

s

cermsnnnnens fi€NAS he has are sincere. : E
(A) The little (B) Much

(C) None (D) The few

149. Choose the most appropriate option -
Ashin said, “Shall | ever win a gold m_e_dal?" (Change into Indirect Speech)
(A) Ashin exclaimed if he shall ever win a gold medal,
() Ashin said that shall he ever won a gold medal.
(C) Ashin asked if he shall ever he;ve won a gold med ai.

(D) Ashin wondered if he would ever win a gold medal,

190- Choose the alternative which best expresses the meaning of the underlined idiom/ phrase -

The winning team decided to 2o for the jugular in the last quarter of the match
(A) give reserve players achance
() attackall oyt

(B) forfeit the match

(D) give easy opportunities to the opposite
team '




